Geo H 8.2

8.2 Notes

Similarity: _54me Shape bk not necessar ly the same siae

Similar Polygons

1. The ratio of the measures of covresponding sides s =
2. Covrespondang angles are 2
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3. Given: ABAT ~ ADOT 4. Find the values of xand y :

OT=15BT=12,TD=9
Find: The measure of segment AO

A HK~APOM,4H=90°,4 =40
J ) J
/M=x+5, andLO:Ey.
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Ex 5:

~ S
ARST ~ ACBA
/R=80°, /S=70° 10
m/C=x+20, mAA:%y, m/B=0.4z %

Find: x+y+z

Discover with .
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Find the ratio of the perimeter of ABCD to the perimeter of EFGH A
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Ex7: Given: The triangles are similar
° P=18 p=st
a. Find the perimeter of each triangle. What is the ratio of the perimeters?
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b. Find the area of each triangle. What is the ratio of the areas? 8
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Ex 8: G 5 H
=90
a) Are the rectangles similar? Explain why. P=19 4 20 p=a
5Y AU L3 %‘Md ratio of Azdo A= 500
Covresponding sides = (‘/s\ J | N 25 M
b) Find the perimeter of each rectangle. What is the ratio of the perimeters?
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c¢) Find the area of each rectangle. What is the ratio of the areas?
How is it related to the ratios of the perimeters and the ratios of the sides?

(ﬁ.\‘,ﬁ
) n,

Conclusion:




